Y—-45 -7

M-86+5
r-18-9
n-29 + 7

38 85 91 36 61 26 61 20 7










CpaBHM

imMm5aMm9cMm*1 M6 aM 0O cm
imMm7aMmd4dcm*1ImMm4 a7 cM

imMm8am*1 mMm1 M 8 cm




EanHuubl nsmepeHns annHbl







N'ycn-nebenu nponerenn
400 M Haa noneMm 1 600 M
Haa necoMm. CKoONbKO Bcero










ONnnHa KHUXXHOM
3aknagku = 15 ....







7 4

OnunHa TeTpaam 20 ...




7 4

OnnHa okHa 22 ...




PaccrosHue OT

aoma 840 ....




PaccTtosHue Mmexxay

nocenkamm 6 ...













npoBepb

iMm8aMIO9cMm=189cm
4mM0aMOcM=400cm™m

2M5AaM5cmM=255cmM










i1mM=100cM 100cMm=1mM
1 amMm = 10cm 10cm = 1 oM

ol



¢ Kakune 3ajaHusA Mbl
BbIMNOJ/IHSAIN?

o Kakue 3HaHus1 HaM




